                               «BID_name»BID

                 GENERIC PROGRAM FOR BALANCED IDENTITY DESIGN

            copyright by A. G. Greenwald, IAT Corp, October, 2001.

   ************************************************************************

   *  THIS PROGRAM SHOULD NOT BE DISTRIBUTED TO OTHERS. ANYONE INTERESTED *

   *  IN OBTAINING A CURRENT VERSION SHOULD CONTACT agg@u.washington.edu  *

   ************************************************************************

IMPORTANT:  When Inquisit completes running and you see a black screen with 

Inquisit in small white print in the center, Type Ctrl-End in order to proceed.

This screen lock feature (which can be removed by removing the 

"/ endlock = true" line from the "defaults" object in the program) is designed

to prevent subjects from playing with the operating system after an experiment 

program terminates.

-------------------

GENERAL DESCRIPTION

-------------------

IATs are created from this script by substituting needed stimuli in various locations in the script.  This document is designed so that all of these replacements can be made using MS Word's merge capability (see further, below).
The needed substitutions are:

- 1 Filename to be used as the name of the generated IAT(BID) procedure

- 2 labels, 1 for each of two social group concepts (e.g., male and female)

- up to 6 (min. 3) stimulus items to represent each of the two social groups

- count of the number of stimulus items for each social group concept (3, 4, 5, or 6)

- 'word' or 'picture' to indicate whether social concept items are words or pictures

- 2 labels, 1 for each of two trait concepts (e.g., math and arts)

- up to 6 (min. 3) stimulus items to represent each of the two trait concepts

- count of the number of stimulus items for each trait concept (3, 4, 5, or 6)

- 'word' or 'picture' to indicate whether trait items are words or pictures

Note: If pictures are used as stimuli, the stimulus items to be entered in the merge data document are the filenames of these pictures (e.g., .bmp, .gif, .pct, or .jpg files, including the extension as part of the name)

The program generated by the merge will run with Millisecond Software's Inquisit

laboratory software package.  A free demo version of Inquisit can be obtained at 

http://millisecond.com.  Inquisit requires a Windows operating system.  Please note 

that Inquisit is a commercial product.  If a decision is made to use Inquisit on 

a sustained basis, a suitable license should be purchased from Millisecond 

Software.

----------------------

OPERATING INSTRUCTIONS (A):  CREAING THE .EXP FILE

----------------------

In order to run one of the several IATs that are provided as examples, start the following instructions from Step 7.  In order to create your own new IAT using MS Word's Merge capability, follow these instructions from the beginning (Step 1). 

NOTE: WHAT YOU HAVE TO DO IN STEPS (2)-(3) AND (7)-(8) MAY VARY DEPENDING ON YOUR 

VERSION OF MS WORD AND YOUR OPERATING SYSTEM.

 (1) Open the document ('GenericBIDform.mmddyy.doc').  It should open up as a Merge

     document with the associated data source 'GenericBIDdata.doc'

 (2) Open the Merge Helper by selecting Mail Merge under the Tools menu.

 (3) Under Step 2 (Data Source), select Edit, then click on the name of the data source

     ('GenericIATdata.mmddyy.doc')

 (4) The data source will open up as a form.  Enter the needed items as appropriate 

     for the IAT you wish to create (see the above list).  These can be entered in a 

     new, blank record after whatever records you find currently in the data source.

 (5) When finished, click OK

 (6) Save the changes that you have just made in the data source file by saving

     the new version of that file under the same name as the previous version.

 (7) At the Tools menu, click Mail Merge

 (8) Go to Step 3, click on Merge.  In the Merge dialog box that opens up, make sure that

     the desired record number that you wish to use for the merge is selected.  (This

     will be the last record if you have just created your own IAT.)  Leave the default

     specification that the merge should output to a new document window.

     IMPORTANT:  Specify that the merge should use ONLY the ONE record that you want.

 (9) At the File menu, click Save As, then 

(10) Provide an appropriate file name and give it an 'exp' extension

(11) Select Text Only (*.txt) in the Save as type field under the filename, and click 

     Yes (to save) when Word warns you that you may lose information.  Make sure that

     you save into the desired folder.

(12) Run the new IAT either by double clicking the new .exp file in Windows Explorer or

     by starting Inquisit and having it run the new .exp file.

-----------

OTHER NOTES

-----------

1. Odd-numbered and even-numbered subjects differ in the order in which the three component IATs of the balanced identity design are encountered.

2. The file 'GenericBIDsyntax.sps' will analyze data using SPSS for Windows.  Some 

knowledge of SPSS will be required to modify this to do analyses beyond producing 

summary IAT effect measures.  [This capability not yet completed as of 11/3/01.]

3. The procedure starts with a computer-administered informed consent procedure that

is standard in most studies using the IAT at University of Washington.  That can be

deleted or modified by deleting or modifying some or all of the 'preinstructions' pages

of the 'expt' object at the very beginning of the program, below.  The relevant pages

are the ones named overview1, overview2, overview4, overview5, and consent.  Their

texts can be found near the bottom of the program.

4. Use of the program with numbers of stimulus items other than 4, 5, or 6 can be done

by modifying the Inquisit script suitably.  This will require some knowledge of Inquisit.

----------------------

OPERATING INSTRUCTIONS (B):  CREAING THE .SPS FILE [not yet available as of 11/3/01]

----------------------

NOTE:  THIS ASSUMES (a) THAT SPSS FOR WINDOWS IS INSTALLED ON YOUR COMPUTER, and 

     (b) THAT YOU HAVE ALREADY OBTAINED A .dat FILE BY RUNNING AN .EXP FILE AS ABOVE.

 (1) Open the document ('GenericBIDsyntax.mmddyy.doc').  It should open up as a Merge

     document with the associated data source 'GenericBIDdata.doc'

 (2) At the Tools menu, click Mail Merge

 (3) Go to Step 3, Click Merge.  In the new box that opens up, first make sure that

     the desired record number that you wish to use for the merge is selected.  (This

     will be the last record if you have just created your own IAT.)  Leave the default

     specification that the merge should output to a new document window.  

     IMPORTANT:  Specify that the merge should use ONLY the ONE record that you want.

 (4) At the File menu, click Save As, then 

 (5) Provide an appropriate file name and give it an 'sps' extension

 (6) Select Text Only (*.txt) in the Save as type field under the filename, and click 

     Yes (to save) when Word warns you that you may lose information.  Make sure that

     you save into the desired folder.

 (7) Open the syntax file in SPSS by double clicking the new .sps file in Windows 

     Explorer.

********************** (PROGRAM STARTS HERE) ********************************

<expt>

/ subjects = (1 of 2)

/ preinstructions = (overview1, overview2, overview4, overview5, consent, begin1, begin2)

/ postinstructions = (end)

/ blocks = [1=SELF_OTHER_practice;

            2=TRAITSXY_practice_short; 



3=SELFX_OTHERY_practice; 

            4=SELFX_OTHERY_test;

            5=TRAITSYX_PRACTICE_long; 



6=SELFY_OTHERX_practice;

            7=SELFY_OTHERX_test;


 8=GROUPSAB_practice_short;


 9=SELFA_OTHERB_practice;


10=SELFA_OTHERB_test;


11=GROUPSBA_practice_long;


12=SELFB_OTHERA_practice;


13=SELFB_OTHERA_test;



14=TRAITSYX_practice_short;



15=BY_AX_practice;



16=BY_AX_test;



17=GROUPSAB_practice_long;



18=AY_BX_practice;



19=AY_BX_test]

</expt>

<expt>

/ subjects = (2 of 2)

/ preinstructions = (overview1, overview2, overview4, overview5, consent, begin1, begin2)

/ postinstructions = (end)

/ blocks = [1=TRAITSYX_practice_short;



2=GROUPSAB_practice_short;



3=AY_BX_practice;



4=AY_BX_test;



5=GROUPSBA_practice_long;



6=BY_AX_practice;



7=BY_AX_test;


 8=OTHER_SELF_practice;


 9=OTHERB_SELFA_practice;


10=OTHERB_SELFA_test;


11=GROUPSAB_practice_long;


12=OTHERA_SELFB_practice;


13=OTHERA_SELFB_test;

14=TRAITSYX_practice_short; 



15=OTHERY_SELFX_practice; 

            16=OTHERY_SELFX_test;

            17=TRAITSXY_PRACTICE_long; 



18=OTHERX_SELFY_practice;

            19=OTHERX_SELFY_test]

</expt>

<data>

/ columns = 

  [date time subject blocknum blockcode trialnum trialcode latency response correct stimulus]

/ labels = TRUE

/ header = TRUE

/ format = TAB

</data>

<defaults>

/ screencolor = (255, 255, 255)

/ font = ("Arial", -48, 700, 0, 34)

/ txcolor = (0, 0, 0)

/ validkeys = ("d", " ", "k")

/ pretrialpause = 200

/ posttrialpause = 200

/ endlock = true

</defaults>

********  Block Definitions *******

<block SELF_OTHER_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, OTHER_right)

/ trials = [1= practice; 2-25 = random(SELFleft, OTHERright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHER_SELF_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_right, OTHER_left)

/ trials = [1= practice; 2-25 = random(SELFright, OTHERleft)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block TRAITSXY_practice_short>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, X_left, Y_right)

/ trials = [1=practice; 2-25 = random(Xleft, Yright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block TRAITSXY_practice_long>

/ preinstructions = (switch)

/ bgstim = (instr_F, instr_J, X_left, Y_right)

/ trials = [1=practice; 2-37 = random(Xleft, Yright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block TRAITSYX_practice_short>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, Y_left, X_right)

/ trials = [1=practice; 2-25 = random(Yleft, Xright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block TRAITSYX_practice_long>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, Y_left, X_right)

/ trials = [1=practice; 2-37 = random(Yleft, Xright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block SELFX_OTHERY_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, X_left_low, OR_left, OR_right, OTHER_right, Y_right_low)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(SELFleft, OTHERright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Xleft, Yright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block SELFX_OTHERY_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, X_left_low, OR_left, OR_right, OTHER_right, Y_right_low)

/ trials = 

  [1=test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(SELFleft, OTHERright);

    3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Xleft, Yright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block SELFY_OTHERX_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, Y_left_low, OR_left, OR_right, OTHER_right, X_right_low)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(SELFleft, OTHERright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Yleft, Xright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block SELFY_OTHERX_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, Y_left_low, OR_left, OR_right, OTHER_right, X_right_low)

/ trials = [1= test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(SELFleft, OTHERright);

        3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Yleft, Xright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHERY_SELFX_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, OTHER_left, Y_left_low, OR_left, OR_right, SELF_right, X_right_low)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(OTHERleft, SELFright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Yleft, Xright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHERY_SELFX_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, OTHER_left, Y_left_low, OR_left, OR_right, SELF_right, X_right_low)

/ trials = 

  [1=test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(OTHERleft, SELFright);

    3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Yleft, Xright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHERX_SELFY_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, OTHER_left, X_left_low, OR_left, OR_right, SELF_right, Y_right_low)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(OTHERleft, SELFright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Xleft, Yright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHERX_SELFY_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, OTHER_left, X_left_low, OR_left, OR_right, SELF_right, Y_right_low)

/ trials = [1= test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(OTHERleft, SELFright);

        3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Xleft, Yright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block GROUPSAB_practice_short>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, A_left, B_right)

/ trials = [1=practice; 2-25 = random(Aleft, Bright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block GROUPSAB_practice_long>

/ preinstructions = (switch)

/ bgstim = (instr_F, instr_J, A_left, B_right)

/ trials = [1=practice; 2-37 = random(Aleft, Bright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block GROUPSBA_practice_short>

/ preinstructions = (switch)

/ bgstim = (instr_F, instr_J, B_left, A_right)

/ trials = [1=practice; 2-25 = random(Bleft, Aright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block GROUPSBA_practice_long>

/ preinstructions = (switch)

/ bgstim = (instr_F, instr_J, B_left, A_right)

/ trials = [1=practice; 2-37 = random(Bleft, Aright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block SELFA_OTHERB_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, A_left_low, OR_left, OR_right, OTHER_right, B_right_low)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(SELFleft, OTHERright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Aleft, Bright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block SELFA_OTHERB_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, A_left_low, OR_left, OR_right, OTHER_right, B_right_low)

/ trials = [1= test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(SELFleft, OTHERright);

        3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Aleft, Bright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block SELFB_OTHERA_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, B_left_low, OR_left, OR_right, OTHER_right, A_right_low)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(SELFleft, OTHERright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Bleft, Aright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block SELFB_OTHERA_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, SELF_left, B_left_low, OR_left, OR_right, OTHER_right, A_right_low)

/ trials = [1= test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(SELFleft, OTHERright);

        3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Bleft, Aright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHERB_SELFA_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, OTHER_left, B_left_low, OR_left, OR_right, SELF_right, A_right_low)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(OTHERleft, SELFright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Bleft, Aright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHERB_SELFA_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, OTHER_left, B_left_low, OR_left, OR_right, SELF_right, A_right_low)

/ trials = [1= test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(OTHERleft, SELFright);

        3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Bleft, Aright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHERA_SELFB_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, OTHER_left, A_left_low, OR_left, OR_right, SELF_right, B_right_low)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(OTHERleft, SELFright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Aleft, Bright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block OTHERA_SELFB_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, OTHER_left, A_left_low, OR_left, OR_right, SELF_right, B_right_low)

/ trials = [1=test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(OTHERleft, SELFright);

        3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Aleft, Bright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block AY_BX_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, Y_left_low, A_left, OR_left, OR_right, X_right_low, B_right)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(Yleft, Xright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Aleft, Bright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block AY_BX_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, Y_left_low, A_left, OR_left, OR_right, X_right_low, B_right)

/ trials = [1=test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(Yleft, Xright);

        3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Aleft, Bright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block BY_AX_practice>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, Y_left_low, B_left, OR_left, OR_right, X_right_low, A_right)

/ trials = [1=practice; 2,4,6,8,10,12,14,16,18,20,22,24 = random(Yleft, Xright);

             3,5,7,9,11,13,15,17,19,21,23,25 = random(Bleft, Aright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

<block BY_AX_test>

/ preinstructions = (watch)

/ bgstim = (instr_F, instr_J, Y_left_low, B_left, OR_left, OR_right, X_right_low, A_right)

/ trials = [1=test; 2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40 = random(Yleft, Xright);

        3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37,39,41 = random(Bleft, Aright)]

/ errormessage = true(error,200)

/ responsemode = correct

/ blockfeedback=(correct, medianlatency)

</block>

******  All Items Needing to be REPLACEd for Different IATs are below here *******

*** INITIAL PAGE OF TASK INSTRUCTIONS ***

<page begin2>

^For one of the sorting tasks you will be classifying «GROUPwordORpicture» items as representing either

^   '«GroupA_label»' or '«GroupB_label»'.

^^In another sorting task you will be classifying «TRAITwordORpicture» items as

representing either

^   '«traitX_label»' or '«traitY_label»'.

^^In a third sorting task you will be classifying words as representing either

^   SELF or OTHER.

^^For each task, please judge the presented stimulus on the basis of which of the two alternative groups it belongs to.

</page>

*** LABELS FOR THE “GROUP” CATEGORIES (LOWER POSITION)***

<text A_left_low>  

/ numitems = 1

/ items = ("«GroupA_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (25, 30)

/ color = (0,128,0)

</text>

<text A_right_low>  

/ numitems = 1

/ items = ("«GroupA_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (75, 30)

/ color = (0,128,0)

</text>

<text B_left_low>  

/ numitems = 1

/ items = ("«GroupB_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (25, 30)

/ color = (0,128,0)

</text>

<text B_right_low>  

/ numitems = 1

/ items = ("«GroupB_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (75, 30)

/ color = (0,128,0)

</text>

*** LABELS FOR THE “GROUP” CATEGORIES (UPPER POSITION)***

<text A_left>  

/ numitems = 1

/ items = ("«GroupA_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (25, 17)

/ color = (0,128,0)

</text>

<text A_right>  

/ numitems = 1

/ items = ("«GroupA_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (75, 17)

/ color = (0,128,0)

</text>

<text B_left>  

/ numitems = 1

/ items = ("«GroupB_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (25, 17)

/ color = (0,128,0)

</text>

<text B_right>  

/ numitems = 1

/ items = ("«GroupB_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (75, 17)

/ color = (0,128,0)

</text>

*** LABELS FOR THE “TRAIT” CATEGORIES (LOWER POSITION)***

<text X_left_low>  

/ numitems = 1

/ items = ("«traitX_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (25, 30)

/ color = (0, 0, 255)

</text>

<text X_right_low>  

/ numitems = 1

/ items = ("«traitX_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (75, 30)

/ color = (0, 0, 255)

</text>

<text Y_left_low>  

/ numitems = 1

/ items = ("«traitY_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (25, 30)

/ color = (0, 0, 255)

</text>

<text Y_right_low>  

/ numitems = 1

/ items = ("«traitY_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (75, 30)

/ color = (0, 0, 255)

</text>

*** LABELS FOR THE “TRAIT” CATEGORIES (UPPER POSITION)***

<text X_left>  

/ numitems = 1

/ items = ("«traitX_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (25, 17)

/ color = (0, 0, 255)

</text>

<text X_right>  

/ numitems = 1

/ items = ("«traitX_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (75, 17)

/ color = (0, 0, 255)

</text>

<text Y_left>  

/ numitems = 1

/ items = ("«traitY_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (25, 17)

/ color = (0, 0, 255)

</text>

<text Y_right>  

/ numitems = 1

/ items = ("«traitY_label»")

/ font = ("Arial", -40, 700, 0, 34)

/ position = (75, 17)

/ color = (0, 0, 255)

</text>

*** ITEMS FOR TRAIT CATEGORIES ***

<word IF  = "picture" "picture" "text" 
text
 TRAITX>

/ items = TRAITX

/ erase = true (255, 255, 255)

/ numitems = «NumOfTraitItems»
word IF  = "word" "/ color = (0, 0, 255)"
/ color = (0, 0, 255)

</word IF  = "picture" "picture" "text" 
text

 IF word = ""picture"" "picture" "text" 
>

<item TRAITX>

/1 ="«TraitX_Item1»"

/2 ="«TraitX_Item2»"

/3 ="«TraitX_Item3»"

/4 ="«TraitX_Item4»4 IF  < 4 "void" "" 
"

/5 ="«TraitX_Item5»4 IF  < 5 "void" "" 
void
"

/6 ="«TraitX_Item6»4 IF  < 6 "void" "" 
void
"

</item>

<word IF  = "picture" "picture" "text" 
text
 TRAITY>

/ items = TRAITY

/ erase = true (255, 255, 255)

/ numitems = «NumOfTraitItems»
word IF  = "word" "/ color = (0, 0, 255)"
/ color = (0, 0, 255)

</word IF  = "picture" "picture" "text" 
text

 IF word = ""picture"" "picture" "text" 
>

<item TRAITY>

/1 ="«TraitY_Item1»"

/2 ="«TraitY_Item2»"

/3 ="«TraitY_Item3»"

/4 ="«TraitY_Item4»4 IF  < 4 "void" "" 
"

/5 ="«TraitY_Item5»4 IF  < 5 "void" "" 
void

 IF 4 > 3 "" "void" 
"

/6 ="«TraitY_Item6»4 IF  < 6 "void" "" 
void
"

</item>

*** ITEMS FOR GROUP CATEGORIES ***

<word IF  = "picture" "picture" "text" 
text
 GROUPA>  

/ numitems = «NumOfGroupItems»
/ erase = true (255, 255, 255)

/ items = GROUPA

word IF  = "word" "/ color = (0,128,0)" "" 
/ color = (0,128,0)

 IF word = "word" "/ color = (0,128,0)" "" 
/ color = (0,128,0)

</word IF  = "picture" "picture" "text" 
text
>

<Item GROUPA>

/1= "«GroupA_Item1»"

/2= "«GroupA_Item2»"

/3= "«GroupA_Item3»"

/4= "«GroupA_Item4»4 IF  < 4 "void" "" 
"

/5= "«GroupA_Item5»4 IF  < 5 "void" "" 
void
"

/6= "«GroupA_Item6»4 IF  < 6 "void" "" 
void
"

</item>

<word IF  = "picture" "picture" "text" 
text
 GROUPB>  

/ numitems = «NumOfGroupItems»
/ erase = true (255, 255, 255)

/ items = GROUPB

word IF  = "word" "/ color = (0,128,0)" "" 
/ color = (0,128,0)

 IF word = "word" "/ color = (0,128,0)" "" 
/ color = (0,128,0)

</word IF  = "picture" "picture" "text" 
text
>

<Item GROUPB>

/1= "«GroupB_Item1»"

/2= "«GroupB_Item2»"

/3= "«GroupB_Item3»"

/4= "«GroupB_Item4»4 IF  < 4 "void" "" 
"

/5= "«GroupB_Item5»4 IF  < 5 "void" "" 
void
"

/6= "«GroupB_Item6»4 IF  < 6 "void" "" 
void
"

</item>

****** All Items Needing to be REPLACEd for Different BIDs are above here *******

*** LABELS FOR THE “SELF-OTHER” CATEGORIES (LOWER POSITION)***

<text SELF_left>  

/ numitems = 1

/ items = ("self")

/ font = ("Courier New", -54, 700, 0, 34)

/ position = (25, 17)

/ color = (0, 0, 0)

</text>

<text SELF_right>  

/ numitems = 1

/ items = ("self")

/ font = ("Courier New", -54, 700, 0, 34)

/ position = (75, 17)

/ color = (0, 0, 0)

</text>

<text OTHER_left>  

/ numitems = 1

/ items = ("other")

/ font = ("Courier New", -54, 700, 0, 34)

/ position = (25, 17)

/ color = (0, 0, 0)

</text>

<text OTHER_right>  

/ numitems = 1

/ items = ("other")

/ font = ("Courier New", -54, 700, 0, 34)

/ position = (75, 17)

/ color = (0, 0, 0)

</text>

*** ITEMS FOR THE SELF and OTHER CATEGORIES ***

<trial SELFleft>

/ correctresponse = ("d")

/ frames = [1=BLANK, SELF]

</trial>

<trial OTHERright>

/ correctresponse = ("k")

/ frames = [1=BLANK, OTHER]

</trial>

<trial SELFright>

/ correctresponse = ("k")

/ frames = [1=BLANK, SELF]

</trial>

<trial OTHERleft>

/ correctresponse = ("d")

/ frames = [1=BLANK, OTHER]

</trial>

<text SELF>

/ items = SELF

/ erase = true (255, 255, 255)

/ font = ("Courier New", -54, 700, 0, 34)

/ numitems = 5

/ color = (0,0,0)

</text>

<item SELF>

/1 ="self"

/2 ="me"

/3 ="my"

/4 ="mine"

/5 ="I"

</item>

<text OTHER>

/ items = OTHER

/ font = ("Courier New", -54, 700, 0, 34)

/ erase = true (255, 255, 255)

/ numitems = 5

/ color = (0,0,0)

</text>

<item OTHER>

/1 ="other"

/2 ="they"

/3 ="them"

/4 ="their"

/5 ="theirs"

</item>

<trial Aleft>

/ correctresponse = ("d")

/ frames = [1=BLANK, GROUPA]

</trial>

<trial Aright>

/ correctresponse = ("k")

/ frames = [1=BLANK, GROUPA]

</trial>

<trial Bleft>

/ correctresponse = ("d")

/ frames = [1=BLANK, GROUPB]

</trial>

<trial Bright>

/ correctresponse = ("k")

/ frames = [1=BLANK, GROUPB]

</trial>

<trial Xleft>

/ correctresponse = ("d")

/ frames = [1=BLANK, TRAITX]

</trial>

<trial Xright>

/ correctresponse = ("k")

/ frames = [1=BLANK, TRAITX]

</trial>

<trial Yleft>

/ correctresponse = ("d")

/ frames = [1=BLANK, TRAITY]

</trial>

<trial Yright>

/ correctresponse = ("k")

/ frames = [1=BLANK, TRAITY]

</trial>

 ******** First, utility items ********

<text blank>

/ numitems = 1

/ txbgcolor = (255, 255, 255)

/ erase = false

/ items = ("                     ")

</text>

<text error>

/ numitems = 1

/ items = ("X")

/ color = (255, 0, 0)

/ font = ("Arial", -48, 700, 0, 34)

/ erase = true (255, 255, 255)

/ position = (50,60)

</text>

******* Reminder Stimuli for Block Backgrounds *******

<trial practice>

/ correctresponse = (" ")

/ frames = [1=spacebar, practice, FEEDBACK1, FEEDBACK2, FEEDBACK3]

/ responsemode = correct

/ pretrialpause = 500

/ posttrialpause = 500

/ correctmessage = false

/ errormessage = false

</trial>

<text SPACEBAR>

/ numitems = 1

/ items = ("READ INSTRUCTIONS, ABOVE, THEN PRESS SPACE BAR TO START")

/ position = (50,70)

/ font = ("Arial", -17, 700, 0, 34)

/ erase = true (255, 255, 255)

/ color = (255,0,0)

</text>

<text PRACTICE>

/ numitems = 1

/ items = ("THIS IS PRACTICE -- ERRORS ARE EXPECTED")

/ position = (50,60)

/ font = ("Arial", -19, 700, 0, 34)

/ erase = true (255, 255, 255)

/ color = (200,55,55)

</text>

<trial test>

/ correctresponse = (" ")

/ frames = [1=spacebar, test, FEEDBACK1, FEEDBACK2, FEEDBACK3]

/ responsemode = correct

/ pretrialpause = 500

/ posttrialpause = 500

/ correctmessage = false

/ errormessage = false

</trial>

<text TEST>

/ numitems = 1

/ items = ("THIS IS TEST – PLEASE GO FAST; MAKING SOME ERRORS IS OK")

/ position = (50,60)

/ font = ("Arial", -19, 700, 0, 34)

/ erase = true (255, 255, 255)

/ color = (255,0,0)

</text>

<text FEEDBACK1>

/ numitems = 1

/ items = ("IF YOU MAKE AN ERROR YOU WILL SEE A RED 'X'")

/ font = ("Arial", -19, 700, 0, 34)

/ position = (50,45)

</text>

<text FEEDBACK2>

/ numitems = 1

/ items = ("BELOW THE STIMULUS -- WHEN THIS HAPPENS,")

/ font = ("Arial", -19, 700, 0, 34)

/ position = (50,50)

</text>

<text FEEDBACK3>

/ numitems = 1

/ items = ("YOU HAVE TO MAKE THE CORRECT RESPONSE TO PROCEED")

/ font = ("Arial", -19, 700, 0, 34)

/ position = (50,55)

</text>

<text INSTR_F>

/ numitems = 1

/ font = ("Arial", -27, 700, 0, 34)

/ items = ("PRESS 'd' FOR")

/ position = (25, 10)

</text>

<text INSTR_J>

/ numitems = 1

/ font = ("Arial", -27, 700, 0, 34)

/ items = ("PRESS 'k' FOR")

/ position = (75, 10)

</text>

<text OR_left>

/ numitems = 1

/ items = ("OR")

/ font = ("Arial", -30, 700, 0, 34)

/ position = (25, 23)

/ color = (128,128,128)

</text>

<text OR_right>

/ numitems = 1

/ items = ("OR")

/ font = ("Arial", -30, 700, 0, 34)

/ position = (75, 23)

/ color = (128,128,128)

</text>

**********  Instructions  *************

<instruct>  

/ font = ("Courier New", -19, 700, 0, 49)

/ nextkey = (" ")

/ nextlabel = "Press space bar to proceed"

/ lastlabel = "Press space bar to proceed"

/ prevkey = ("d")

</instruct>

<page begin1>

^          INSTRUCTIONS FOR THE SORTING TASKS

^^For each of several sorting tasks you will be shown pictures

one at a time in the middle of the computer screen.

^^Your task is to sort each item into its correct category as fast as you can

by pressing  EITHER the‘d’ key or the ‘k’ key.

^^IMPORTANT: Press the ‘d’ key using your left index finger,

or ‘k’ key using your right index finger.

^^The categories associated with the ‘d’ and ‘k’ keys will be

shown at the top of each screen.  Please pay close attention

to these category labels -- they change for each sorting task!

</page>

<page end>

^^^This task is now completed.  Please press the spacebar to proceed.

</page>

<page watch>

^Please examine the next page carefully.

^^It gives instructions key assignment instructions for the next

series of categorization trials.

</page>

<page switch>

^The next few blocks will change one of the categorization tasks.

^^You will have on-screen reminders at the top throughout the block.

^^Please use this block to remember the instructions and learn the task so

you will be able to respond rapidly in the following blocks.

</page>

<page overview1>

^^^Anthony G. Greenwald, Professor, Psychology (543-7227)

^^^A brief description of the procedures used in this research

follows on the next several display pages.

</page>

<page overview2>

^^Our research investigates cognitive processes that are used in decisions

that involve memory.  We are seeking to develop and test theories of the

cognitive processes that occur inside and outside of awareness in the

routine use of memory.

^^Stimuli will be presented on this display screen, and your responses will

be entered on the keyboard.

</page>

<page overview4>

^^The research assumes that you can read English fluently, and that your

vision is normal or corrected to normal.  If you do not consider yourself

fluent in English, or if your vision is not normal or corrected to normal,

AND ESPECIALLY IF YOU ARE HAVING SOME DIFFICULTY READING THIS DESCRIPTION,

PLEASE ask the experimenter now whether or not you should continue (you

will receive participation credit in any case).

^^Your identity as a subject is confidential.  Further, you are free to

discontinue participation at any time, without penalty.

</page>

<page overview5>

^^In keeping with standard practice, your data may be retained for 5 years

or so, during which time only the investigators on this or successor projects

will have access to them.

^^^PLEASE NOW READ THE STATEMENT ON THE NEXT PAGE, WHERE YOU WILL ALSO BE

ASKED TO RESPOND TO A STANDARD INFORMED CONSENT QUESTION.

</page>

<page consent>

CONSENT STATEMENT

^^I have read the description of the procedure.  I understand that the questions

I may have about this research will be answered by Professor Greenwald or one of

the other researchers working on this project.

^^I consent to participate in the research that has been described on the

preceding display pages.

^^[INSTRUCTION:  Press the space bar if you consent to proceed.

^If you wish to ask any questions first, open the door now to speak to the

experimenter.  IF YOU WISH NOT TO PROCEED, you should open the door and inform

the experimenter.]

</page>

